Name:

1 9X___=81
O 6 O 8
o 7 o 9

2. Share 90 marbles between 10
children. How many marbles

each?
marbles each

3. 35 divided by 5 equals:

O 5 O 7

O 6 O 8

4. Which equation shows 36
divided by 6?

O 6 =+ 36

5. Mrs Henry shared 24 Easter eggs
between 6 students. How many
eggs did each student receive?

O 1two O three

O four O five

6. Which equation's answer is

10?

o Do o &)
O 5)45 O 7)70

7. Each van can take 6 children to

the game. How many vans are
needed to take 30 children?

O bvans O
O 6 vans O 3vans

10 vans

8. 64 children in year 3 are divided

into 8 groups. How many in each

group?
O 12 O 9
O 10 O 8

<

What's the value of the divisor?
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